[7] RESEXMBREEREDZASEH

1M

(2

=

3

SH6EI1AXR)
REEEMIDEEREERR
e  EEMluT mok BW OME KB N A LE REB HE BNH B % BB A H
& HEHH 27 1 13 2 3 7 2 1 56
M| S>uxH® 13 1 4 2 1 2 23
6 % & 1 1 2
F| AEE 30 1 13 1 4 9 2 1 61
S| FHEHH 30 10 5 14 3 5 1 8 1 77
M| S>uxH® 16 1 7 3 1 4 1 33
5 3 & 1 1 1 3
F aEE 31 11 5 16 2 5 1 7 1 79
HEHH -3 -9 -5 -1 -3 2 -2 6 -6 -21
ﬁ | SLEHT -3 -3 2 -2 1 4 1] -0
w| X & -1 1 -1 1 -1 -1
a8iEE -1 -10 -5 -3 -2 1 -1 8 -5 -18
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e  EEMluT =k BW OME KB N A LE RB XBE RNE B® BB G
B SHI6E 25 1 11 1 3 6 2 1 50
fél SFI5E 26 6 3 14 3 5 1 6 1 65
® H[H6E 2 2 1 1 6
fél SH5E 4 4 2 2 12
EHADFEEGER
e  EEMluT mok BW OME KB N A LE REB XB RNEH B % BB G
g SHI6E 3 3
SF5E 1 2 3
B SHI6E 6 2 1 1 10
SF5E 6 2 2 2 12
" SHI6E 6 3 1 1 1 12
SF5E 4 4 1 3 1 1 1 2 17
X SHI6E 3 1 1 3 1 9
SF5E 7 1 2 2 2 1 15
SHI6E 7 1 4 2 1 15
SF5E 6 1 1 5 2 2 17
SHI6E 1 2 1 4
SF5E 6 1 1 2 1 11
+ SHI6E 1 1 1 3
SF5E 1 1 2
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e  EEMluT mok BW OME KB NA LE REB HBE RNH B % RS A H
a1 5| SF6LE 4 3 7
TEE | 4f5E 3 3 1 1 3 2 1 2 16
& & | THMeE 4 5 1 10
THR | Sfs5E 8 2 2 4 1 3 1 21
B | SH6E 4 1 1 3 9
TER | ofs5E 5 1 1 3 1 2 13
12 | TMeE 2 2
T 8| ofs5E 1 1 2
EOE | S6E 1 1 2
B B| s 1 1
g 5| wHM6E 2 2 4
® OB omsE 1 1 2 4
Zot | Hi6eE 10 5 2 2 2 1 22
DER | SH54 12 2 1 3 1 1 20




